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Instructions to Examinees

General Instructions :

(1) The question paper consists of 150 m

divided into five Parts A,B,C,DandE.

(2) Each part of the question

(3) All the questions are compulsory.

(4) An examinee shall have to attempt all the questions from Parts A, C, D and E.
(5) An examinee shall have to answer all the questions from'

medium of instruction opted by the examinee in the Appli

paper contains 30 multiple choice questions (MCQs).

Full Marks - 150

ultiple choice questions (MCQs) carrying 1(one) mark each and is

Part B (Language-I Part) depending on the
cation Form.

(6) No negative mark is allotted for wron g response to any question from all Parts of the Question Paper.

Parts Contents Number of | Question Numbers Page Numbers |
Questions | From To From To
(A) Child Development & Pedagogy 30 1 30 3 7
(B) Language-I .
Bengali 30 31 60 8 10
Hindi 30 31 60 11 12
Oriya 30 31 60 13 15
Telugu 30 31 60 16 17
Nepali 30 31 60 18 19
Urdu 30 31 60 20 22
Santhali 30 31 60 23 24
(©) ‘Language-II (English) 30 61 90 25 26
(D) Mathematics 30 91 120 27 30
(E) Environmental Studies 30 121 150 31 35
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Special Instructions

1. Each Examinee will be provided a Blank OMR Answer Sheet along with a Question Paper as Question

Booklet form and page 36 for rough work.

2. Examinees are requested to read the complete instructions carefully and fill in the details from SI. NO:. 1
to 4 in the Question Booklet and required columns in the OMR Answer Sheet. If an examinee fails to fill
the details and to sign as instructed correctly, he/she will be personally responsible for the events that
arise in Optical Mark Recognition of his/her OMR answer sheet.

3. For Part-B, the examinee shall have to select the Medium of Instruction and choose one of the given
options (medium) to determine the First Language (Language-I) and accordingly shall have to answer
the Questions from determined Language-I Part only.

4. Examinees must ensure that the Question Paper Code printed on the Question Booklet has been written |
and filled correctly at the prescribed place in the OMR Answer Sheet. |

5. The Question Booklet comprises of 36 pages having 150 multiple choice questions (MCQs) and one
page for rough work. After being instructed to open the Booklet, examinees must first check whether the
Booklet contains 150 questions starting from Page Nos. 3 to 35. Please ensure that no page/question is
missing or not printed/torn/repeated. In case he/she finds any defect anywhere in the Question Booklet,
he/she should inform the invigilator immediately and get it replaced.

6. In the event of a mistake in any question, examinees will not be penalized. However no correction will
be made in the question(s) during the examination.

7. With each question an examinee will find four alternative answers marked by the letters A, B, C & D.
Examinees are requested to read each question carefully and find out which answer according to
his/her perceptionis correct for making the response as per instructions printed in the OMR Answer Sheet.

8. Rough work is to be done only in the space provided at the end of the Question Booklet. Examinees are
requested not to tear it off from the Question Booklet. No additional paper shall be provided.

9. Examinees will be barred from carrying the following items inside the centres:
(a) Any stationery item like textual material (printed or written), bits of papers, Geometry/ Pencil Box,
Plastic Pouch, Calculator, Scale, Writing Pad, Pen drives, Eraser, Log Table, Electronic Pens/

Scanners, Cardboard etc.
- (b) Any communication devices like Mobile phones, Bluetooth, Earphones, Microphones, Pagers, Health |

bands etc. _
(c) Any Watch/Wristwatch, Camera, Wallet, Goggles, Handbags, Gold ornaments etc.

(d) Any other item which could be used for unfair means and for communication devices/gadgets like

Cameras, Bluetooth devices etc.

I 10. Examinees are advised to take their allotted seat immediately after entering the examination hall.

11 Examiﬁees must handover the OMR Answer Sheet and the copy of the admit card to the invigilator

- before leaving the Examination Hall.
1 be allowed to leave the Examination Hall before the final bell.

12. No examinee shal
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English Version

) L]
Lo Child’s “inabllity 1o underatand o attuntlon from
another person’s point of view® In called
(A) Obhject permanence () Centration
(C) Egocentric thinking (D) “Tranuductive thinking

2. When old memorics inhibit new lenrning, then (hig
phenomenon is called
(A) Proactive inhibition
(B) Retroactive inhibition
(C) Interactive inhibition
(D) Postactive inhibition

3. According to Kohlberg, a teacher can Inculente
moral values in the classroom by |
(A) giving importance to religious teaching J
(B) asking students to read |).?§yclmlugy hm]k.w
(C) introducing clear and strict rules for behaviour
modification
(D) discussing moral issues

4, According to Gardner’s theory of Multiple
Intelligence, ‘the capacity to detect and respond
appropriately to the moods, motivations and desires of
others’ refers to

(A) linguistic intelligence

(B) logical-mathematical intelligence
(C) interpersonal intelligence

(D) intrapersonal intelligence

5. According to Piaget’s view, the child learns that
‘water can be frozen and then thawed to become liquid
again’ is an example of

(A) Seriation ability

(B) Classification ability

(C) Reversible thinking

(D) Hypothetico-deductive thinking

6. The ﬁersonality variable through which people
generally feel about themselves is
(A) Self-confidence (B) Self-dependence

(C) Self-esteem (D) Introvertedness

7. The memory responsible for remembering ‘how to

do things’, is called
(A) Procedural memory
(B) Semantic memory
(C) Episodic memory
(D) Autobiographical memory

PART
Child Development & Pedagogy

A

Bengali Version

L Perestirs “sieea yi®afor (e caploa st catam armeis’
A1

(A) awa gllacga 4ias

(1) ollgrepitn s

(1) sl foga
() Ayafere foge

2, wste) wai(ea| 3yl sge Weiee) afvl 5% sea oua R e
a1
(A) A8 (Proactive) 94|
(W) 28 (Retrouctive) 44l
(C) 11me Clnternetive) =il
(1) Taa wkaa (Posnetive) 4141

3, calgmalcala we oEpica, e ferm)/ Pl aifaars
YFCAlY Grlaly pace Alcas
(A) T (Al Tl eugpeg mler B
(13) 18ep(@lean sicalfanira 98 “eces 909
() wlael AfAa80Ta Gl (% @ TAT Tl Qenn v
(1) Geihaan faza e olleibel sta

4. MGcaa a3 Al 3 P SETCHA TSNS (mood),
ceialel] @ il e #fel v, 6 o elf naimel efefam e
L TR e [

(A) whiiahe 4f4
B) anfen-afdfon qfd
() =g arfas 4fd

(D) wiwzaifan 4fa

5. [omirela w@ Epied, Meal 4 ey @ e
sificlw a7l @, BAoE G G e sare #Afiads v’
&% e g A

(A) 2RI (seriation) "]

(B) efefazaaraa (classification) 38!

(C) Tyl (reversible) foge

(D) SipftGa-sacat] (hypothetico-deductive) 5@

6. M}.ﬂ o i e Sters frems e Eed

A E
(A) - (B) -z
(C) wig-Aw (D)

7. ‘cart wa B Tl wr— G e A T
o (1 AT T g A W, O W
(A) 7%foa1® (Procedural) s
(B) @il (Semantic) ~f®
(C) @iefes (Episodic) 3%
(D) SEAEr (Autobiographical) %
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PART—A
Child Development & Pedagogy

English Version

8. If a child has a mental age of 5 years and
chronological age of 4 years, then IQ of the child will be
(A) 100 (B) 75
(©) 80 (D) 125

9. Which one of the followings is the correct sequence
of steps for insightful learning?

(A) preparation, incubation, insight, verification
(B) preparation, incubation, verification, insight
(C) preparation, insight, incubation, verification
(D) preparation, verification, incubation, insight

10. Falling down on a floor, a child started to hit the
floor out of anger. What type of thinking is reflected here
according to the theory of Piaget?

(A) Reflective thinking
(B) Logical thinking

(C) Analytical thinking
(D) Animistic thinking

11. Which one of the following principles is NOT
relevant to Child Development?

(A) Sequentiality (B) Continuity
(C) Reversibility (D) Generality to specificity

12. There are two tasks in education: -

(I) Personality development (II) Habit formation

There are two stages of education:

(a) Primary (b) Secondary

The best combination of the task in education and
stage' of education might be

(A) (1, a); (11, a) (B) (1, b); (II, b)

(©) (1, a); (I, b) D) (1, b); (1, a)

13. The cephalocaudal principle of child development
refers to the development which proceeds from
(A) head to toe
- (B) general to specific ,
.(Cj centre of an organism to the. periphery of its body
(D) concrete to abstract

14. The first step of memory is
. (A) Retention

 (B) Recall

; (C) Recognition
D) Learning

Bengali Version
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(A) (I, a); (11, a) (B) (1, b); (11, b)

© @ a); (1, b) (D) (1, b); (11, a)

13. fre Remim ererereers (cephalocaudal) fférs
vz weife =
(A) S (AT A-937 fac
(B) rae (s Aftesa fice
(C) &z %A Wy (A AR fie

(D) T¥ = Rrea fires

14. &7 elaw @ioife zo
(A) g7
(B) e
(C) dejfewt
(D) e
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Child Development & Pedagogy

English Version

15. According to Kohlberg, in which stage of moral
development does an individual work to please his/her
family members and neighbours?

(A) Punishment obedience stage
(B) Personal reward slage

(C) Good boy/Nice girl slage
(D) Law and order stage

16. Which one of the following statements is NOT true
about the concept of the term ‘Pedagogy’? |
(A) Pedagogy is the ways and means of transaction of
curriculum
(B) Pedagogy is usually influenced by the dominant
culture
(C) Pedagogy is not related to the needs of the children
(D) Pedagogy is being exercised across the curriculum

17. To address the needs of differently abled learners
in inclusive class, which one of the following step should
teachers adopt?

(A) Approach focussing on learners’ deficit

(B) Approach focussing only on the specific learning

disability

(C) Approach of neutrality to treat all the children in
similar manner

(D) Approach focussing on learners’ strength

18. Which of the following is NOT an essential principle
of teaching at primary level? s

(A) Principle of providing attention for individual
difference

(B) Principle of proceeding from simple to comglcfx

(C) Principle of proceeding from general tO‘SpelelC

(D) Principle of providing enough information to the
learner

19. While teacher explores learners’ indirect ar!d
general experience in concept formation _in
learning-teaching process, then which one of the followings

will be most acceptable? ‘
(A) Exposure — Perception — Abstraction —

Generalization .
(B) Exposure — Generalization — Abstraction —

Perception | S
(C) Exposure — Abstraction —> Generalization —
Perception
(D) Exposure —> Abstract
Generalization

ion — Perception —

Bengali Version

IS, (i@t o Sepia, e R et
oAttt s 2 e : bbb
(A) *lifR8 iliysrey Wi RS A
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i |
D) Remidior e wws o GRe

eva @10 et Braa Frmrres sy gy A w2
(A) IEFCH T (@R NS

(B) 96 (TS Giberold Wis Sepad Aife

(C) Y (A ReE e weiEa |Aife

(D) pFidiore B A o2 AW NS

18.

19, PR eifger e 94w wizelt oot cea e
SRR @ Y o] Saad IS HIZEEH, T4 AHA (A
i (% arzerasy -a?

(A) =Rz (Exposure) — 2o (Perception) —
fasze (Abstraction) —> AR (Generalization)

(B) s(fafofesa¢ (Exposure) —> SN (Gencrali;?ation)
_» RRgéal (Abstraction) — SO (Perception)

(C) #Afafpfesad (Exposure) — fRapéael (Abstraction) —
Y= (Generalization) ~ ofepF (Perception)

S
(D) ~Iff5fee=el (Exposure) — fRaréaee (Abstracluon.
s (Perception) — Faraaeaet (Generalization)

[5]



PART—A
Child Development & Pedagogy

English Version

20. The level of teaching in which the learner can
identify the problem, define it and try to solve it by using
critical and creative abilities, is

(A) memory level of teaching

(B) understanding level of teaching
(C) reflective level of teaching

(D) pre-active level of teaching

21. Learning-Teaching becomes more effective, when
(A) Teacher asks questions and students answer
(B) Teacher writes on the blackboard and students
make a copy
(C) Teacher encourages students to ask questions and
helps them to answer
(D) Teacher assigns a lot of homework

22. There are some concepts in Pedagogy:
(I) Objectives (II) Aims (III) Goals
There are some factors:
a. Student b. Teacher c¢. Nation
Find out the best matching pair from the following
pairs:
(A) (11, a) and (11, c) (B) (II, a) and (I, c)
(C) (I,a)and (11, b) (D) (1, c) and (III, b)

23. A teacher tells the students “Try to do the task, you
will learn”. Here the teacher tries to .
(A) motivate extrinsically
(B) motivate intrinsically
(C) encourage for achievement motivation
(D) demotivate

24. Which of the following strategy is NOT

pedagogically appropriate for learning in the

Constructivist approach?
(A) Encouraging learners towards
perspectives of objective reality
" (B) Group collaboration
- (C) Drill and recall
(D) Exploration through experimentation

25. A test is administered twice in a definite interval on

a group of school students under identical environmental
_conditions. The mean scores of the students remain very
close, It is therefore, said, the test has
i _(A) validity
(B) reliability
(C) objectivity
(D) moderate difficulty value’

multiple

Bengali Version

0 wra fermidl fam enife e F9Te,
mﬁ?ﬁmﬁwwmﬁmﬁwmﬁﬂww
B A AU FACS (58! A, ©f T

(A) P Gra P
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(D) are-fer weas el
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(A) forms/ Ml ep) taw @ Rl Sed o
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(C) Frss/ il formi i ol TCe TeAIfEs LA @R
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Ao @ corei Faroen it ANe 2 Of UF @1

(A) (III, a) @3 (IL, c) B) (II,a)9vk(d,c)
(C) (I,a)93R(IL, b) (D) (I, ¢)9=R (111, b)

23, awe P/ Mt Pt e “sre swce oSt
w0, BN PR | @ P/ Mt
(A) I cefaell 358 ato Hidrad
(B) wreyedt (23 %% wace bidges
(C) ~imffor (@RIm SR wars et
(D) (2R SR7N FACS BIZEA

24. oA G S corintfem fiws cars P Rffeam
¥Rl 7% Sorge e
(A) TFI AWIOR IBA (@ FIo{5 7 wgeifie =t
(B) w&srs sraiforet
(C) Silew @ smwad
(D) =w-Ria MO STERe

25. RS o I wwe [Rwgtem FrdivR Bew a3y
v Affriere AfffEfere aald wStw watw ecnst 1 7=
¥ CHTET T 1 FRFIR A wErwHa @i FEE Wi

= @ A
(A) Teliefst
(B) fSzatars!
(C) st
(D) Wi wifdey
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- PART—A
Child Development & Pedagogy

English Version

26. A teacher asks a student to mention different non-
conventional uses of tea-cups. This teaching tends to
develop among the students

(A) Convergent thinking
(B) Creativity

(C) Language ability
(D) Concrete thinking

27. In the classroom of a primary school, students
usually come from different social backgrounds in terms
of culture, religion, economic status and caste system.
What should be the best combination of teacher’s task to
make the classroom inclusive from these given options?

(1) To reflect on his/her own stereotypes and beliefs
(i) To include and emphasize diversity of children’s
experience

(iii) To create institutional ethos towards equality

(iv) To instruct children to accommodate the ex1st1ng

standard curriculum

(A) (1), (i1), (iii)
(©) (), (iii), (v)

(B) @), (i), (iv)
(D) (ii), (iii)

28. A social science teacher may make linkage
geographical concept while teaching history. This kind of
pedagogical strategy

(A) would promote misconception among the learners
(B) would negatively impact learning as it would
impose additional burden :

(C) would facilitate learning by promotmg

interdisciplinary approach
(D) would neither impact to promote nor to create a
hindrance in learning

29. Which of the following is NOT a relevant reason
for assessing learners before presenting a lesson?
(A) To assess the readiness of learners for a lesson
(B) To make the learners aware before presenting a
lesson
(C) To facilitate teachers to practice core teaching
skills '
(D) To form different learning groups among
the learners while adopting collaborative
teaching-learning :

30. In which step of 5‘E’ model, students conduct
activities, predict and form hypothesis?
(A) Engagement
(B) Elaboration
(C) Explanation
(D) Exploration

Bengali Version

26. Trrs/ e awew e it vitaa sivoe R wenle
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(A) fgf&s29 (Engagement)
(B) fagfos39 (Elaboration)
(C) aMied (Explanation)
(D) wiee3d (Exploration)
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PART—B
Language—l—Bengali
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9 T2 Ao 0T T, (T8 |
GRS (AT, W 0 WiE i Q)
AR (TSTE FIAT OIS #A12ca Sha,
e OF TSRIFT (Y TS 2ol |
CRTSHSTNT 70 (AT BT #itel oI,
TG [l STe fofmarer wed |
ISy i AeTeTe IreisE I,
RIS G I SRR gl |

ST OF AlENR FA6121F Tf,
@A Aaw-orF HfY coyeaR e |
TYATS 47w PhE, =T 2 7 @f{—
oftl 7 @77 O THE SR (I |
T (el TeYRE AEI APHDLS,
AN (ST FACE 79 -

A (FCA ST B I FHHIE |

e FE0e WA TofF T 2T e,
RSN 0T *#AT BIeTet Rariees |
R 2 (515 L HisAveliced B |
FERCER A Sl ffer ore & |
7itee Aife ori-sfal S *[TO |

40 TAIT CoITE, W A S e @ —
ﬁm%mﬁ@rw@ﬂmﬁrﬁm?
(A) o 11

~ (B) Tl ©)
(C) FAEE ©IF
(D) SATHIGE ©IF
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oo ¢ Frrfarfe sReiei® <o st 7B epafem (40 (4=

41. TGN (TS 1A o3 #idra har— ﬁm-etwmﬁa-

o Fr?

(A) R =@

(B) %3 TCFF 719
(C) BedCH 719
(D) 4 714

42. <TH ofF B R =G W e’ — FEad oawE
GO S7H ? '
(A) Prargans A S
(B) SRATHT Swadl S
(C) TGS T S
(D) ISP e ST

43. T 20 oo S HistetireR =ty — e omh &
QIS o7 ? _
(A) fema Resad (B) I7e fRvaael
(C) wyFene faread (D) wEerg [{eiad

T o mp————— NSRS
(A) T (B) g .
(C) T (D) 9%

45. ‘carewenifd TN U BrE ote e’ — careweTitE

TR WG 96 Y@ TR (S T FO 2

(A) AoIF @ (B) T @ wAsem!
(C) v&aqe ¢ fofem (D) 2fedsw ¢ viEw

46. frsa FWP TR ArFEet 3 (Emergent Literacy
Stage)-4 &% I AW A ?
(A) T3-97 4fS wiag
(B) smRefat A F@A7 el
(C) Tfew el 1 !
(D) *I% (TR el

47, R TR AT e Rre SR =iEs, 005 SEAR
caw f3fef wfewe
(A) FFee ¢ TRraEs e Srprad T30 T3
(B) wifefie ifbe-9a T3 TS T
(C) =0 TS 7 BiRgE if¥a T A0S TR
(D) g M R w3 vy e 7=
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48. ﬁﬁ%&ammmwwmﬁwmﬁwm
(A) BT i s st et
(B) piey fimerass/ Miftrpin w9 s carelt
(©) 3 7 G oitarg 72 st
(D) o Sapdie sfFet iy -

49, aﬁmﬁw/ﬁﬁwwammﬂwﬁﬂmfﬁ@
- U (Reading disorder) B wem ©ites fwfeilRe &=

AN O I ¥q[E HgEA P
(A) syt (B) & raiargpet
(©) T=ism (D) =foew

Wfrﬂa‘?‘fﬁﬁ CFLE Oe (e (Centrality of Language)
(A) ©11Sm1sy =61 g (Subject) creig (IR (PR

Bl =it e
(B) %ma X S0 79 (Subject) Frmeig i el

(C) == 551 (Content Studies) wrafrm @m .
(D) mmﬁtwﬁmwﬁ@mw@ﬁmwwm
1t wwre crewe e Gz

_51. 3R@etss wesa ettt g fms/ R
foR A grotte Racem T relio— e R o
et (it reTw FarEn

(A) S (B) wmpraig
(C) Saw (D) S
52, TR otieya fafefe Wﬁﬁ. W (I SrEH
T @ IfeTe e
(A) =Freters Ifa

(B) UL Swiarea ooy fsfiel

(€) Prwi¥ics frer wicel e % R :

(D) I3 (Text)-a3 1 4HeNbre TN HLIF I
T s>y ==

53. = o 1w A Frvs/ Rt Frwidts ciifeet @
SRS I (TS B Oreret fofi (i waeea eive gy
AN e

(A) Foy/fians o
(B) @36 *rw7 Teafofes o
(C) F=fFEmas (M.C.Q.) 2

(D) TwifEs e
54, e o R e sicse 2l e
(A) TR (B) Fge
(D) &

(C) S

55. Frsa-fde oigad (Teaching-Learning Material)
AR @i Tmafe @ft el ¢
(A) HZEETo]
(B) =&
(C) fRmpidifar tefar
(D) f&aGr 15 5@ (Contextualised) €32 TSI

2qE

56. elidfi® P owta SeeTay P (reaiw wtad e
(A) Weorl Feg ATF sare @ge
(B) wnfers Sl A (reta o
(C) TSR Fremiey I3 295 #1es!
(D) wfveRE @FTeie’ SRt wie

Ty

S e L e

57. sforoditsn o s/ @fdw v ga-geas
FEWT wee ol ara Mwfeie Momie oraa— elow we ey
TS 'R 1 ordird, fasi wiern Fiw sfer 16 e
A =, T v FEel( FTE Toiw sitwy o el F |
a2 ATt S Fo

(A) Frmidiors fafvzg wtg e

(B) fzzs 7wy wfewifew w1

(C) = a 917 o) oige 5541

(D) Pmifivrs st e Ry wwel @ e wEy
reT

58. T[T MR cwra—

o R/ fifEs T2, otiiw % @ S 3

o Freidfiom efbfen werme, 193 féa
SoifiSe S ot Rz Rrviomfors foi warg? |
(A) 7 *me |
(B) 13 =if "
(C) Rrerae ~afs
(D) SREAF ~afe

59. @36 s efbraifior wivarem sty R/ B 1
m% R:%W TSI AIFT (Assessment) 5
(A) WE9fe s

(C) =AIdweeTa Wiy

- (B) f@ere wmEe
(D), S99® i@

60. AT Wzt 1 Srwmra sy o wwEE W
(A) Totfeca stor Rrsei o qeerons Bt 2t
(B) amresta et Jgymet a1 :
(C) o7 R it wiiest srerar scey oo SR
! At
D) Wﬁ@ﬁﬁ%ﬁmﬁﬁ%w
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Read the following passage carefully and answer
Question Nos. 61-68.

The victory of the small Greek democracy of Athens over
the mighty Persian empire in 490 BC is one of the most famous
events in history. Darius, King of the Persian Empire, was
furious because Athens had interceded for the other Greek city

states in revolt against the Persian domination. In anger the
King sent an enormous army to defeat Athens. He thought it
would take drastic steps to pacify the rebellious part of the
empire. Persia was ruled by one man. In Athens, however, all
citizens helped to rule. Ennobled by this participation,
Athenians were prepared to die for their city state. Perhaps
this was the secret of the remarkable victory at Marathon, which
freed them from Persian rule. On their way to Marathon, the
Persians tried to fool some Greek city states by claiming to
have come in peace. The frightened citizens of Delos refused
to believe this. Not wanting to abet the conquest of Greece,
they fled from their city and did not return until the Persians
had left.
61. Athens had

against the Persians.

(A) refused to help (B) wanted to fight

(C) intervened on behalf of (D) given orders to fight

62. Darius took drastic steps to
rebellious part of the empire.
(A) weaken
(C) destroy

the other Greek city states

the

(B) conquer
(D) calm
63. The people of Delos did not want to the
conquest of Greece.
(A) end
(C) support

(B) think about
(D) day dream about

64. The people of Delos ran away becanse they were
(A) bold (B) wise
(C) impatient (D) annoyed

65. Which of the following options come closest to the
meaning of the word ‘Ennobled’ as used in the passage is—
(A) worried (B) frightened
(C) panicked (D) encouraged

66. The word ‘abet’ as used in the passage means—
(A) fight (B) follow
(C) assist (D) share

67. ‘Persia was ruled by one man.’ The underlined word
in the sentence is an example of
(A) Noun (B) Adjective
(C) Pronoun (D) Adverb

68. Statement (i) — Persia was autocratic
Statement (ii) — Athens was democratic
Choose the right option:

(A) Statement (i) is false, and Statement (ii) is true
(B) Statements (i) and (ii) both are true

(C) Statement (i) is true and Statement (ii) is false
(D) Both Statements (i) and (ii) are false

Read the following passage carefully and answer
Question Nos. 69-75. : e B

It was a cold, wet and windy March evening when Prem
came back from the village with his wife and first-born child,
then just four months old. In those days, they had to walk to
the house from the bus stand; it was a half-hour walk in the
cold rain, and the baby was all wrapped up when they entered
the front room. Finally, I got a glimpse of him. And he of me,
and it was a friendship at first sight. Little Rakesh (as he was
to be called) grabbed me by my nose and held on. He did not
have much of a nose to grab, but he had a dimpled chin and I
played with it until he smiled.

The little chap spent a good deal of his time with me during
those first two years in Maplewood—learning to crawl, to
toddle, and then to walk unsteadily about the little sitting room.
I'would carry him into the garden, and later, up the steep gravel
path to the main road. Rakesh enjoyed these little excursions,
and so did I, because in pointing out trees, flowers, birds,
butterflies, beetles, grasshoppers, et al, I was giving myself a
chance to observe them better instead of just taking them for
granted.

In particular, there was a pair of squirrels that lived in the
big oak tree outside the cottage. Squirrels are rare in Mussoorie
though common down the valley. This couple must have come
up for the summer. They became quite friendly, and although
they never got around to taking food from our hands, they
were soon entering the house quite freely. The sitting room
window opened directly onto the oak tree whose various
denizens—ranging from tag-beetles to small birds and even
an acrobatic bat—took to darting in and out of the cottage at
various times of the day and night,

69. The animal which is rare in the place mentioned in
the passage is
(A) tiger

(C) squirrel

70. Little Rakesh was
narrator for the first time in his life.
(A) two years old (B) four months old
(C) four years old (D) a baby of one year

(B) bat
(D) tag-beetle

when he saw the_

71. ‘Et al’ means ;

(A) also (B) either
(C) but (D) and others
72. The synonym of ‘denizen’ is

(A) army (B) students

(C) occupants (D) animals

73. In his excursion little Rakesh was accompanied by
(A) the narrator (B) Prem
(C) his brother (D) his friends

74. ‘Finally, I got a glimpse of him.” This is an example
of an
(A) assertive sentence
(C) imperative sentence

(B) interrogative sentence
(D) exclamatory sentence
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75. “I would carry him into the garden, and later, up
the steep gravel path to the main road.” This sentence is
an example of

(A) Simple past tense

(B) Past perfect tense

(C) Past continuous tense

(D) Past perfect continuous tense

76. Listening comprehension is a/an
(A) passive skill (B) active skill
(C) productive skill (D) reasoning skill

77. Basic skills for language learning comprises of
(A) speaking, remembering, listening, spelling
(B) listening, speaking, reading, writing
(C) speaking, framing, writing, analysing
(D) speaking, thinking, reading, writing

78. The meaning of a word in a passage depends only on
(A) its dictionary explanation
(B) its context
(C) its origin
(D) its spelling

79. Which of the following is not true for second
language learning and acquisition in direct method?
(A) Socio-cultural differences constitute the principle
factor in both.
(B) We do not use translation method for both,
(C) We use mother tongue for both,
(D) Socio-linguistic factor is essential for both.

80. Which of the following is the principle of teaching
grammar in a second language classroom?

(A) Learners should be taught only the aspects relevant
for communication.

(B) Learners should be taught every grammatical aspect
thoroughly. :

(C) Learners should be taught the art of scaffolding.

(D) Learners should be taught only translation.

81. What should be emphasised in assessing second
language proficiency?
(A) Correct grammar
(B) Correct spelling .
(C) Ability to use second language in different contexts
(D) Correct writing

82. Which of the following is not a principle for second
language teaching?
(A) Prompt feedback
(B) Continuous assessment
(C) - Memorisation of the rules of grammar
(D) Use of different contexts

83. Sitting arrangement in a diverse second language
classroom should be
(A) fixed
(C) fixed but planned

(B) flexible but planned
(D) flexible but unplanned

84. Which of the following TLM is most essential for
an English teacher to carry to the classroom?
(A) Dictionary
(B) Chart
(C) Textbook
(D) Model

85. According to NCF (National Curriculum
Framework) 2005, multilingualism in a language
classroom should be seen as

(A) achallenge to second language teaching.
(B) a hindrance to second language acquisition.
(C) ashortcoming in second language teaching.
(D) aresource in teaching second language.

86. Which of the following activity is most appropriate
in developing language skills?
(A) Watching films
(B) Reading storybooks
(C) Participating in cultural functions
(D) Preparing school magazines

87. For teaching a grammar item a teacher begins with
examples, and then with the help of examples, she/he
clarifies the rules. After that she/he asks the students to
provide more examples and provide clarifications. The
teacher here is thus using the

(A) Deductive method

(B) Inductive method

(C) Inductive-Deductive method
(D) Direct method

88. Which one of the given alternatives is not true about
language acquisition?

(A) A child uses the language correctly without being
conscious about the grammar rules.

(B) Language development takes place in a natural setting.

(C) Affective factors like anxiety, self-confidence, etc.
are not involved in the process.

(D) Instruction from experts is required.

89. Immediate correction of errors is encouraged in
(A) communicative approach
(B) translation method .

- (€) community based language learning
(D) project based method

90. The purpose of remedial teaching is to
(A) introduce new language items
(B) test recently taught language items
(C) teach again the language items not properly learnt
(D) teach again the language items already learnt
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Mathematics

English Version

91. Ram can finish a piece of work in 6 days doing
10 hours of work in each day. Actually, after working
3 days (10 hours a day) he starts working 6 hours a day to
finish the rest portion of the job. Then the total time Ram
would require to finish the job is

(A) 10 days (B) 8 days
(C) 12 days (D) 15 days
92. Let A = (666 x 123 + 1) x (66 x 456 + 2) + 1 and
B=(33x578+2)x(333x734+1) + 1 then
(A) only A is prime
(B) only B is prime
(C) both A and B are prime
(D) none is prime

93. (0-1-0-01) x 0-11 x (0-01 + 0-0001) =
(A) 0:00009999 (B) 0-909099
(C) 0-10101111 (D) 0-00000099

94. The sixty second decimal place in the decimal

representation of %2 will have the digit
(A) 7 (B) 4
©) 2 D) 5

100 10000

(A) 4214-1222
(C) 1212-1212

95. 121212 x (J— * ) _

(B) 12242412
(D) 2121-2121

96. Ram loses a 100 m race to Faruk by 10 m. Distance
that can be covered by Faruk when Ram covers a distance
of 99 m is

(A) 10 m (B) 91m
C€) I1lm (D) 12m

97. Which of the following does not represent the
lengths of the sides of a triangle?
(A) Scm, 6 cm, 7 cm (B) 2cm, 5cm, 6 cm
(C) 2cm,3cm,7cm (D) 3cm,4cm,5cm

98. The digit, whose place value in a number, does not
depend on the place is
A) 7 (B) 9
©) 0 D) 1

99. If the sum of all the proper divisors of a natural
number be equal to the number itself, then the number is
said to be perfect. '

For example, proper factors of 6 are 1,2 and 3. Here,
1+2+43=6. .. 6is perfect number.
Therefore, for 42 and 28, we can say
(A) Both are perfect (B) None is perfect
(C) 42 is perfect but (D) 28 is perfect but 42
28 is not is not

Bengali Version

91. efdfim 10 €bt s Fare AN Wb 3@ 6 e oy
FA0S 2 | Tt 109951 7@ 3 e i w219 #1ta &1 4ife Temafer
&S 6 9%t Tt g 3@ | OIFA Tl IGH FACS 37 W

e
(B) 8w

(A) 10 s
(D) 15 %4

(C) 124w

92, @ TF, A = (666 x 123 + 1) x (66 x 456 + 2) + 1
@3 B = (33 x 578 + 2) x (333 x 734 + 1) + 1 OIT#,

(A) wgig A Gifers

(B) wywig B (Nfeiw

(C) A € B Tez Glifers

(D) @R G 7

93, (0°1-0-01) x 0-11 x (0-01 + 0-0001) =
(A) 0-00009999 (B) 0-909099
(C) 0-10101111 (D) 0-00000099

94, %3 -3 AT et FATET 620 WeIfSs BT O T

(B) 4
D) 5

(A) 7
(C) 2

100 10000

(A) 4214-1222
(C) 1212-1212

95, 121212x(-L s ):

(B) 1224-2412
(D) 2121-2121

96. 100 m (s efsraifaers A, TiwEres F1tg 10 m-4 (3@
T | AT IR 99 m T O TS A ACF I 7Y I
(A) 10 m (B) 91 m
(CG)11'm (D) 12 m

97. e @l @i ferem 2y foaba trd awm
sy ‘
(A) 5cm, 6¢cm, 7 cm (B) 2cm, 5cm, 6 cm

(C) 2cm,3cm,7cm (D) 3cm,4cm, 5cm

98, FRUNA M (FA (T &R FAW WA ©F Frww o
e s T ¢ ==
(A) 7 ' (B) 9
(C) 0 D) 1
99, T G2l reiRe e wwe g TeaTEa TS gt
farere am, s e fds @ al
T, 6-97 T eswaefi 1, 2 4R 31 9T,
1+2+3=6 .. 6% e Al :
AR, 42 € 28-47 &Y IS AR _
(A) 752 e e (B) @R e ™
(©) 2 FyeFg28 7 (D) 28 e e 42 7w
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Mathematics _ .
English Version Bengali Version
160, g o 140- ° oo ::.o
RO A I & & -
1, 3, 6, 10, ... are triangular L B8 6, 10, ... 75 fage 74t | Srgge
numbers. The tenth triangular number is win fage A 2= ;
(A) 42 (B) 50 (A) 42 (B) 50
(C) 55 (D) 100 (C) 55 (D) 100

101, 35574 is divided by n to get a perfect square number.
The least value of 7 is
(A) 2
) 6

(B) 3
(D) 12

102. The digit in the unit’s place in the product of
first 100 prime numbers is
(A) 1
(OR

(B) 3
D) 0

103. The proper sequence of the names of the three angles
220°, 180°, 75° is

(A) acute angle, right angle, obtuse angle

(B) right angle, acute angle, straight angle

(C) feflex angle, obtuse angle, acute angle

(D) reflex angle, straight angle, acute angle

104. What is the difference between the place values of
two 7’s in 17152717

(A) 699930 (B) 996930

@€ o (D) 30699
105. Sum of all the factors of 100 is

(A) 216 (B) 117

(C) 223 (D) 217

106. NCF 2005, recommends that teaching of
mathematics at Primary Level should focus on
(A) Preparation for higher mathematics
(B) Helping students in correlating the classroom and
in learning with daily life
(C) Helping students to achieve international standard
of learning in mathematics
(D) Abstract concepts of mathematics

107. Which of the following conceptual statements should
come first at the time of teaching Mathematics?

(A) ‘Zero’ is to be taught with the first set of numbers.

(B) ‘Zero’ is to be taught after making learners
acquainted with digits from 1 to 9.

(C) ‘Zero’ is to be taught after making learners to
acquire the sense of natural numbers and binary
operation ‘subtraction’. . '

(D) ‘Zero’ is to be taught while teaching the place
values of digits in a number.

101.  efef Ryt MeTa Ty 35574-F 1 W I T 2F |
n-a3 S40E 9 2= '

() 2 ®) 3
© 6 ®) 12

102. et 1006 CMfers Teayta Qorweer <o B o 27
(A) 1 (B) 3 oy
© s D) 0

o

103. 220°, 180°, 75° elwe ciet fowifba &y gt Aimefem @

a
L]

(A) STHTII, FACHI, Zorcplef

(B) T, TSI, Fa@Arslel ,

(C) AR, FoTI, Sl T
(D) ATATII, FALETI, ST

104. 1715271~69 7 %64 FN7 Atwa w7 2o
(A) 699930 (B) 996930
©o (D) 30699

105. 100~97 1 BeaAwaelm 7uiB 2=
(A) 216 B) 117
(C)-223 (D) 217

106. NCF 2005, v w=pia afefie wrm o e o
T TE '

(A) Toowtan oIy S 3 cor

(B) cefersa R & e Sraga O SH ZrA
AR =

(©) Pt siffte R wrweifos w BRte w1

(D) sifdte Rapd gzt e a1

107. oifers Rreseeta wm fiesm winetiors Refoekn g el
e Wi Bfvw e
(A) ™[ &2 R GTHR H3 IS 204 |
(B) 1 (= 9 R wwefd WA MR ey sTex
sifaffea e |
(C) Fredta Freifcs sk e sifvw @ siffes A
TR oI =R w7 o7 =iRBRT e |
(D) wmafera i e wiw ooz sy W7 A AR B
AT |
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108. “Mathematics is the mirror of civilization.”— Who
said this?

(A) Heghen (B) Bacon

(C) Whitehead (D) Berthelot
109. In order to teach the comcept of ‘addition of

fractions’, which one of the following questions a teacher
should prefer first as an example?

I
(A) 3+ + — =7 (B)

© —f+—,)“='? (B =

110. If a teacher wants to share the concept of the formula

‘(a + b)* = a* + 2ab + b*, which question among the
following should be raised to evaluate the previous
knowledge required for the content?

5 2

25 oo
B = ==
® (2)'= 2 om
(D) 5x5=5% (T/F)
[T means ‘True’/~7%)’; F means ‘False’ /et

(A) 13* =169 (T/F)

(C) 672 = 649 (T/F)

111. Which of the following symbols is unique for
mathematical language?
(A) ?
C) %

B) @
D) &

112. ‘Draw a geometrical figure.”— the level of the
question is

(A) Knowledge based

(B) Understanding based

(C) Application based

(D) Skill based

113. In order to motivate a learner to learn geometry,
which one of the following is not required?

(A) Problems arising from life

(B) Folding of papers

(C) Mathematical game

(D) Complex problems on geometry

114. Which of the following statements is incorrect for a
circle?

(A) ‘The chords, equidistant from the centre, are of
equal lengths.’ ' -

(B) ‘The equal chords of a circle are equidistant from
the centre.’

(C) ‘The straight line segment joining the mid-points
of two parallel chords of a circle always pass
through the centre.’

(D) “The straight line joining the mid-points of two
parallel chords of a circle must pass through its
centre.’

‘Bengali Version

108. “aifes ze sreyoia wold |” — «ft wia &2
(A) Heghen (B) Bacon
(C) Whitehead (D) Berthelot

109. YT Ciowe sraellls orAaE A e/ Mt
fimfaie emafem i @@t Fdees Swizad e g9em

N ?

1. o e
(A) 35+ 5 =7 (B} +# =)

2 3 1 2

= — =17 —_— —_— =7
(®) 3 + il (D) 5 + 5

110. @A aFe frws/ MBS (@ + b)? = a* + 2ab + b*~a7
el R sata v Frsa @ el giaelts atre st
o AHI2-9F G FACT ?

5\ 25
(B) (?) 3“3—('171:')

(C) 67% =649 (T/F) (D) 5x5=5%(T/F)
[T-7 &% ‘True’/¥1%y’; F-a 914 ‘False’/2’]

(A) 13%= 169 (T/F)

111. FTefaReshE wy @ Tzh dfdres ot w02

(FEEG erarey ?
(A) ? B) @
(C) % D) &

112. ‘o376 wiffes foa omw oa — epifba v ==
(A) SRES
(B) QI
(C) drneiETs
(D) wHSIYEs

113. wifife fara Predia s cere Tt FelEie @mbe
TS (27 : .
©(A) GIFF (AT TS AT
(B) Jloied ©fet
(C) sifafss et
(D) eifaif® ik@s wiber et

114. 307 &= Ao (@i (el e e

(A) % (AF TACY SFS Fe S-A Ol A
Eul

(B) SHTACa i &1 JUed (R (0 TICS SfFe [

(C) T s I Syi-aa R TR i
WMIR e @O 2 ?

(D) TS PHr~ia TGN Bt N AT e
FEiZ 00 (TN 2 [
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115. Given statments are—
(i) two angles are complement of one another if their
sum is 90°, '
(ii) Complement of an angle of measure 70° is an angle
of measure 20°.
(iii) Complement of an angle of measure 20° is an angle
of measure 70°,
(iv) Complement of an angle of measure 90° is an angle
of measure 0°,
In order to share the concept of complementary
angles, a teacher should prefer the order
(A) (), (i), (iii), (iv) (B) (i), (iii), (iv), (i)
(©) (i), (iv), (i), (ii) (D) (v), (), (i), (iii)
116. To evaluate the length of the path described by a
circular wheel by a complete rotation, we need to evaluate
(A) the area of the wheel
(B) the circumference of the wheel

(C) the measure of the circumference of the wheel
(D) The length of any chord

117. Let p be a prime number. Given statements are
(i) p has exactly two distinct factors.
(i) p=1
(iii) p must be odd.
@iv) p-220
Which one of the following is the set of true
statements?
(A) (), (ii), (iv)
(©) (@v), (iii)

118. To share the knowledge of corresponding angles we
need to consider
(A) a pair of parallel straight lines only
(B) a pair of parallel straight lines and a common
transversal
(C) a pair of coplanar straight lines (may not be
parallel) and a common transversal
(D) a pair of intersecting straight lines

B) (), (i)
D) (iii), @)

119. Which one of the following is not a characteristic of

mathematics?
(A) Uncertainty in result (B) Correctness
(C) Originality (D) Truthfulness

120. Which one of the following is not an essential
characteristic of formative evaluation of mathematics?
(A) Judgement on content knowledgcf of mathematics
(B) Elemination of fear of mathematics
©) Self-evaluatio_n of learners
(D) Time consuming

Bengali Version
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PART—E
Environmental Studies

English Version

121. Which one of the following International Treaties
had been designed in 1987 to protect the Ozone layer?
(A) Kyoto Protocol
(B) Copenhagen Accord
(C) Paris Accord
(D) Montreal Protocol

122. Which one of the following gases is a natural
greenhouse gas?

(A) Oxygen

(B) Carbon monoxide

(C) Nitrous oxide

(D) Nitrogen

123. Which one of the followings is associated with

‘Blackfoot disease’?
(A) Mercury
(C) Cadmium

(B) Arsenic
(D) Selenium and Iron

124. The characteristics of environmental education were
enlisted for the first time in—
(A) 1976, Thilisi conference
(B) 1977, Thilisi conference
(C) 1977, Belgrade international workshop .
(D) 1972, United Nations Conference on the Human
Environment, Stockholm

125. Which of the following animal is the state animal of
West Bengal?

(A) Fishing Cat

(B) Squirrel

(C) Royal Bengal Tiger

(D) Ganges River Dolphin

126. Which of the following pair is not correct?
(A) Architect — Sun Temple of Konark
(B) Architect — Rashmancha of Bishnupur
(C) Architect — Temples of Khajuraho
(D) Architect — Ajanta Cave

Bengali Version
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127. Which one of the following fertilizers contain
nitrogen fixing cyanobacteria (Anabaena)?

(A) Azolla biofertilizer

(B) Dung manure

(C) DAP (Di-ammonium Phosphate) fertilizer

(D) NPK (Nitrogen-Phosphorus-Potassium) fertilizer

128. Which of the following statement is correct
regarding the curriculum of EVS at primary level?

(A) Inthe primary classes, topics of physical and social

environment should not be included.

(B) Experiment based teaching in class should not be
included.

(C) Children should not be involved in such activities
which increase their creative and cognitive
capacities.

(D) At the primary level, EVS should include the
topics of gender and gender-sensitivity.

129. Which oneé of the following objects are
non-biodegradable wastes?
(A) Vegetable.peels, Leaves, Petals
(B) Animal debris, Branches of trees, Rotten fruits
(C) Plastic bottles, Computer parts, Batteries
(D) Paper waste, Food waste, Compost

130. Which one of the following animal species is not an
example of endemic species? :
(A) Asiatic Lion, Gujrat
(B) Lion-tailed Macaque, Western Ghats
(C) Muga Silkworm, Assam
(D) Leopard, Maharashtra

131. Which one of the followings is the correct sequence
of energy flow?
(A) Solar energy—>Pri_mary producer—»Carnivores

—>Decomposer
(B) Solar energy—>Primary producer—>Carnivores

—>Herbivores \
(C) Solar energy'—)Herbivores—)Primary producer

—>Decomposer
(D) Solar energy—>Primary producer—>Herbivores

—>Carnivores

127.

Bengali Version
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PART—E
Environmental Studies

English Version

132. There are 38 different groups of students in a class.
Each group consists of an equal number of students.
Six groups are asked to carry out projects on biomass
energy, nine groups are asked to carry out projects on
geothermal energy and four groups are asked to carry
out projects on wind energy. Rest of the students are asked
to carry out projects on fossil fuel. While asked to express
the distribution of groups of students working on
renewable energy through a pie-chart, the correct way of

their representation will be — _
‘ ©

(A) - (B) (D)
R = Renewable energy
O = Others

133. Which of the following is not a source of lead?
(A) Paint
(B) Distilled water
(C) Cosmetics
(D) Children’s toys

The three R’s to save the environment are—
(A) Reserve, Reduce, Recycle

(B) Reuse, Reserve, Reduce

(C) Reduce, Recycle, Reuse

(D) Reserve, Reuse, Reduce

134,

135. Which one of the followings is an ecofriendly
practice?
(A) Not using a cloth bag
(B) Using sound crackers
(C) Unnecessarily switching on lights and fans
(D) Going to school on foot or bicycling instead of
using a private motor car

136. International Environmental Education
Programme (IEEP) has been launched by—
(A) UNO (B) UNESCO

(C) UNICEF (D) ULO

137. “Kuno National Park’ has become famous recently
because of—
(A) reintroduction of the ‘Dodo bird’ from Europe
(B) reintroduction of the ‘Cheeta’ from Ceritral Asia
(C) reintroduction of the ‘Cheeta’ from Africa
(D) reintroduction of the ‘Lion’ from Africa

Bengali Version
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138. The process by which earthworm decomposes
biodegradable solid waste is called—

(A) Composting

(B) Landfilling

(C) Shredding

(D) Vermi-composting

139. Which of the following is a bioindicator of air
pollution?
(A) Water hyacinth
(B) Parthenium weed -
(C) Karabi flower Plant (Oleander or Nerium Plant)
(D) Lichen

140. What should be the minimum thickness of plastic
carry-bags since 1st January, 2023 as per Plastic Waste
Management (Amendment) Rules, 2021?

(A) 75 microns (micrometers, pum)*

(B) 120 microns (micrometers, pum)

(C) 50 microns (micrometers, pm)

(D) 20 microns (micrometers, pm)

141. A list of rivers are given below. Which rivers among
them play an important role in the formation of soil of
the Terai region of West Bengal?

Damodar, Matla, Teesta, Ichamati, Mahananda,
Subarnarekha, Ajay, Raimangal

(A) Matla, Subarnarekha

(B) Damodar, Ichamati

(C) Teesta, Mahananda

(D) Ajay, Raimangal

142. Which of the following tropical cyclone was a Super
Cyclone?

(A) Yaas, May 26, 2021

(B) Tauktae, May 16-18, 2021

(C) Amphan, May 18-19, 2020

(D) Nisarga, June 3, 2020

143. River Damodar flows through which of the
following districts of West Bengal? .
(A) Hooghly, Jhargram, Birbhum, Howrah, Purulia
(B) Purba ~Medinipur, Murshidabad, Purba
Bardhaman, Coochbehar, Hooghly
(C) Coochbehar, Howrah, Kalimpong, Paschim
Bardhaman, Purulia
(D) Purulia, Paschim Bardhaman, Purba Bardhaman,

‘Hooghly, Howrah

Bengali Version
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144. In EVS class, a teacher takes the learners to the 200
to introduce them to caged wild animals. This activity
comes under the purview of—

(A) Assignment

(B) Experiment

(C) Project work

(D) Field visit

145. The main disadvantage of observation based study
in Environmental Studies is—
(A) It creates a bonding between the teacher and the
learner
(B) Ithelps to increase the observational ability of the
students
(C) It is not possible to teach all the chapters of the
subject f

(D) Students get the scope for thinking independently ) |

146. Which one of the following is not a part of
photochemical smog?
(A) Ca
©) 05

(B) PAN
(D) NO;

147. In which stage of environmental study based active
research, is hypothesis formulated?

(A) In problem identification stage

(B) After the analysis of the probable causes

(C) In research methodology stage

(D) In assessment stage

The Chipko movement is associated with—

(A) labour movement in India

(B) trees and forest protecting movement in India
(C) mineral resource conservation movement in India
(D) peasant movement in India

148.

Which of the following are horticultural resources?
(A) Paddy and Jute

(B) Mango and Litchi

(C) Tea and Coffee

(D) Wheat and Maize

‘ 149.

150. The vector that acts as the carrier as well as host of

causative organisms of diseases belongs to which of the .

following animal category?
(A) Birds
(C) Arthropods

(B) Reptiles
(D) Molluscs

Bengali Version
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